4 is the PAMATY function of 5
srorage of data
Execution of instryctions

y  Display of graphics

by Network communication

Vhich 'computct component is
manner !
A) RAM
By CPU
.() Hard Dnve
D) Monitor

What is the main function of an | deviee?
» . 'nM

A)  Display information

B) Process data

C) Enter data into the computer

D) Store data permanently

What is the purpose of an operating system?

A) To perform arithmetic calculations

B) Tomanage hardware resources and run app!'c:
C) Todisplay graphics

D) Tostore and retrieve data

tions

a computer from VIFESE ang

& Which type of software is designed to protect

’;A) Word processor
' “B) Antivirus software
C) Web browser

D) Spreadsheet software

6. What is the pnmary function
A) Todisplay images
B) Toprovide
) Togg
D




IVice
I I llowing is not 80 Example of an output devic
N. Which of the follo
A Printer
) \[N.ﬂ.ql
C)  Monitor

D) k‘\'\'.\h'
ymming language

Which of the following is not 8 high.level progri

9.
A Pyvthon
H) Assembly
L) Lva
D)
iple?
10, Which data structure uses the LastIn. First-Out (L1FQ) pring
A Queue
B) Suxk
C) Amny
D) Linked List
11.  What is the purpose of an algornithm in computer s¢ ience?
*A)  Toexecute a program
“B)  To provide a step-by-step solution to a problem
C)  To store data in memory
D) To create a user interface
12. Which programming paradigm is associated with objects that encapsulate data and

behavior?
A)  Procedural
B) Functional
C)  Object-Oriented
D)  Imperative

I13.  What is the binary equivalent of the hexadecimal number " | A"?

A 1010
B) 1000]
C) 110

D) 11100

14. What is the Purpose of a compiler in programming?
A)  Toexecute the program
B) Toconvert source code into machine code
L) Todebug the program
D) To Manage memory allocation

(Set. n)
(4)
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18 A) ““\-'Iu\k Tox
M Hypes Teat AManagement Longuage
() Hypsy ranaict Markup Language
) Hyper Text Markup Language
1% which of the following is not an input devic:
A) Keyboard
B Mouse
() Printer
D) Scanney
17, What type of software is responsible for manason irdwa
A user interface?
A)  System software
B) Application soltware
) Open-source software
D) Freoware
(8. Whatis the primary characteristic of Open-Sourc
Ay Itisalways free of charge
g)  The source code is freely available and can !
¢y Itis always developed by large corporation
p) Jtis never used in commercial applications
19, Which organization oversees the development of the
A)  Google
B) Mozilla Foundation
) Microsoft
D) Apple
20, What is a primary key in MS Access?

A) A unique identifier for a record
B) A way to format text

C) Atypeofreport

D) A form control

21, What doe
A)  Structured Query Language

B) System Query Logic
C) Structured Query Logic
D) System Query Language

(Set-D)

'l" |

s SOL stand for in the context of MS Acc
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antivi
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l(): gystem optimization
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o Pally wmwhichnthwhkh game, it the A
M"(M Weight Lifting
;: gilver, Shot put
') Broese Shotput
p) Broase welght lifting
w)onWmiliWCoanfofWimum.u wing during the Isracl-Hamas
conflict?
A) vohammed Deif
) Il Haniyeh
¢) Yahya Sinwar
D) Ayman Noful

¢ the Indian ammed

forces, 1§
A) A French company

B) A Russian startup

C) Amwinwbmdbyll'rnombcy
D) Ajoint-venture startup based in Hyderabad

woh Tty (L

L4
W M “"“f&. ashmir Union Temtory?
SO MR AV

*A)  Banihal Pass. ‘__“
B) Changla Pass N
() FotuLaPass

|

D) Khar




|
Omation is NOT collected during the ¢ CNsUS
‘K ‘\ ) fthe following infomy .
: hicholthe d

N India? |
A) Mantal status
B Educational qualification
(") \c]:,’\,"'.l”'l"”" L
1)) COccupation
39. Last census of India was conducted n
A)  Feb 2011 |
|
8)  March 2014
|
) Feb 021
D) /L'f‘ _"I,‘\‘ ‘
40, Which of the lollowinge Was NOT rules of Jammu and Kashmir?
\) Alurungzeh ‘
) Maharyjq Ranjit Singh
C) '\1.:9:.::.:;.1(ml.nh\nu,;,
D)

qucn Vic ona

\.. 5 ‘)‘
N
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oy in Kashmir and not sown in Ladakh
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Who among thw !nlln\\”‘)T made " Bud \‘UQN("’ i}

A) Shah Mur

1By Sultan Stkandar

) Aurmngreh

Rinchan

D)

£5, Managers sct targets and decide thelr organi zation
A Wha
B) How
Which

)

D)

Because

56. Whatare you in the Kitchen cupboard?

A) Lookingin

B) Lookingon

() Lookingto

D) Looking for

disposes”. Fill inthe blank space in this saying with any

§7. "Man proposcs,
one of the following words -

A)  Woman

'B) God

C) Younggir

D) Goddess

the best apples from the basket.

She

«A) Choose

58.

.B) Chose
) Was chosen

D) Choosing



A)  Enjoyed ourself
\B) Enjoyed oursclves
C) Played with
‘D)  Enjoyed

60. Choose the correctly spelt word
A) Comittee
B) Committe
C) Comittece
*D) Committe¢

61. Which one is the correct sentence?
A) Mumpsis common among children.
‘B) Mumpsare common among children.
C) Mumpsis common between children.
D) Mumpsare common between children.

62. The sergeant asked him to come to the Police station -
Which one is the correct answer?
A) Between4d PMto 5 PM.
‘B) Between4 PM and 5 PM.
C) Between4 PMor 5 PM.
D) Between4 PMtill 5 PM.

63. Which one is the correct sentence ?
A) He who speaks the truth, everybody loves him.
B) Everybody loves him who speaks the truth.
« C) Everybody who loves him speaks the truth.
D) Everybody whom he loves speaks the truth.

64. A greatman said, "If '
,"If you can't fly, then run, if you can't run, then walk, if you cant
(t:‘en crawl, but whatever you do, you have to keep " Inthis qu(z’te.(?u mh:;
'{

A Fiying
- B) Running.




t know who was he and where did he o

re he came from?

re did he come from?
re he came from?

© he came from?

. Replace the word "hate' in the




."2 Sarmestha is T praen QW
\) from i
1) mn
L) O i)
[ §) Ol \
nee ¢ word 'ha dly CANs )
73 | ‘\llun'h-l good Tuck In this senich th e : o )
. fe hard! :  Rinddos :
Which one ) the COTTes ' |
A)  Almost not
)
B) Sincerely K0 :
& “;“‘!,“":l\\.n\
D) Very seriously ‘
. ' he blank space
4. Where theve 182 there is a way.” Fill in the blank space in thi g, !
with any one of the following words
\) Wil .“‘
H) Shall
) Should
D) Would
75,  "Yesterday Rahim as well os Karim present in the meeting. " Fill In the by
' in this sentence with one of the following %7
A)  Has been
B) Was
C) Hadbeen
D) Werc
76. The expression “Think out of the box" means 21
\)  Come out of the box and then think
' B)  Think ina conventional manncr
C)  Think in an innovative manner
D)  Think inside the box
77.  Omnivorous animals are those who - 8.
A)  Eatall kinds of food

B) Liveon vegetlables
" C) Livein walter
D) Livein tlocks

78. That he would treat me with this kind of

lnhhdunuun“akanunnnw This sentence
) IS -

A)  Fully correct

H) Partially comect

C)  Subst
D)

antially incorrect
Iucnncu

(14)
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Y A i tnicement e viver i 1) Late i he s
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Conclusions ’
¢ Jance N
| 'Y . . |\
L ) ’ » \"“tl
9 it
B\ 2 ) { ) n IO X v
’ on follo Coneit
\
(1) or follo
, . folloy \
}
89. Statements the harmonmums are instruments. All the instruments are Nus \)
Conclusions Y 3)
! \ ies are instruments .
: \ C)
\ 1 MIums are Hutes \ |
e )
\) Onls oncliusion follows ¢
B 0O onclusion lollow
N or (2) follows 93, Sial
1)) Nertl ynor (2) 1ollows WwEl
the
9 ) Some mane
U.  Statements: Some mangoes are vellow SOIME LIXO are mangoes | Ca
Conclusions: ' :
e dreen ~
e
»

! SO MANEOes
s10n follows ’
A

usion lollows

’
thisi

w(2) lollows
‘7“:'”'\\ 5
(16) (Set

‘D) \‘nl”!:.’ufr:l\lxl
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(

king financial nstitutions by aPrx
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pent has Sped Jma i \
.\\.||| N

g ¢ | these instiutions
\.‘1"'*-" T l'lft" s
, 1O : al institules
‘ parho 1d appoint Directors of the financi king 128,
e L nl shoul ) : ‘“m”“_ arca of finance
¢ cernm p ~\'ul“‘ of the P
’ yon the & _— . . YO 11%
T the financial institute should have expertise commensupye o
JRLL ek
rectOr « !
n\i{h-.‘. State e . cried out by the institute
O tak ey, al WOrk
i - .
SAC the Riven e '_"“,..““!.l”nn\\\
"“lln‘y“'\ LH..‘\ '\l‘” 3 “:l.-" .
N s A , lusion follows
S1ons log; Oty ) con
--\.|H\ ,“” [ saly' | 4
LN £ 'm. ! -,,.“_'l!n”«'\\‘\
ot (|
. ) follows
i ors _ W andd (&
. » - .“ y
ats: Population increase coupled with depleting resources 1s going to be the
B i pany developing countries in days 1o come
ol g pons:
‘;n . - . -
e population of developing countries will not continue to increase in Tuture
swill be very difficult for the governments of developing countries 1O provide i
cople decent gquality of life
’
. wlv | wlusion follows
ments are Nutes Ouly (1) conclusic
Ouly (2) conclusion follows
D [ Eather (1) or (2) follows
1)
> | D Both(l)and (2) follows
( :
'
' 93, Sutements: Prime age school-going children in urban India have now become avid &
f. v s more regular viewers of television, even in households w ithout a TV. As a resul
f here

as been an alarming decline in the extent of readership of new spapers
Coxclusions:

\-[C‘."

od of increasing the readership of newspapers should be
\

devised

wam ol experts should be sent to other countries 1o study the impact of TV.0on
the readership of new spapers.

V' Only(] ) conclusion follows
:

5) | )
f '~ Unly (2) conclusion follows

!

| ha ;
' Either (1) or (2) follows
.'I|

\ -
Veither (1) nor (2) follows

‘Sﬂ.m

(17)




." Meat' is related 10 Vegetarian' in the same wav as Alcohol i rel ated o "
. 0 | .

'A) Fectotaler ‘. 9 \‘
B) Smoker ‘ H
C)  Water ‘
D) Dietician . l

-

& ‘Cher is related 10 Food' in the same way as '( huu‘np‘l.ll\hct' s related 1o

A)  Stage
A\

B) Musk

* ( ! Dance
D) Photogreph)

wn that 15 related to the : .
prion (hat 18 IOIRTEE the third number in the same way as the Mo
.

elated to the first number. 4 - 8 :24% 9 AT

96. Select the «
number 18 T
Ay W “
B |25 ‘
) 62 .‘

l)l 75 ‘
'

Qi [+ mean -means "+, X means *-*and + means * **, then what will be the values
the following expression, I8 +6-27 43 x |2 =7 f

)

A Yi
B) 105
() 04 41

D) 107

98. Introducing a girl, a boy said, “She is the daughter of the mother of the daughter of my '
aunt.” How is the girl related to the boy? '

v A) Niece
'i, r‘\lux{
( ) ( OuUsin

D) “"“f-'ll!k-;

99.  One moming, Manish and Ali were takinig 10 éach Othier fice 1o fic6 at « sl

All's shadow was exactly to the left of Manish, which direction was Manish facing?
» A) |'.l\!

B)  South
C) West
D) North ) ..

Set- D . |
3 { ) % ' ;

103,
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H
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(\‘(plw he following in a logical and o aningful order
! ‘ JdCup Semi Final Matches
e ld Cup Finals Match ’
nzimg the World ¢ up
inang the Pt ipahing tcams
-
rof the \\l'l!\’( up
vhat will R : :
% the v
alug o |, 4 )
! AL
’ S
) 4§
e ) :
T 10, } me and ran 20 km towards South. then tured right and ran 10km He ok
¢ daug ) f minutes § ; ¥ Spot ; ‘ .'
ghter of my nutes at the same spot and then again turned right and ran 20 km ,\l!aﬁ‘
| . ; 20k
cltand ran 20 km to the cricket ground. How many kilometers will he have ty
ek to reach his home by shortest route?
0 15k
, kn
’ " All
‘© atl o Crossing. If

) b {hcinl? {1} .
lanish facing’ sol'the quadrilateral are in Ratio 4 § 10: 11

¢
= he angles are given belows
oU%, 1089, 156
WL 60°, 1200, 132
=, 60°, 1220, 126°

OU%, 120°, 120° |

‘\f.“’




A) 120
“) 150
) > 70
* D) 180

|05_ The expression SO O4/4000) is np._,] 1o
Ay 010215
s B) 0.0215]
¢ 0.15201

D) 021015

106. A man sells two houses al the rate of Rs. 1,995 lakhs each. On one, he gains 3% andon
other he loses 5%. His gain/loss percentage in the whole transaction is

0.25%

A) Loss
‘B) Gain= 0.25%
2.5%

(") ,‘n\

) | .oss 25%

in this mode of payment,

107. A has to pay Rs, 220 to B after | year. B asks A to pay Rs. 110 in cash and defer the
payment of Rs. 110 for 2 years. A agrees to it, If the rate of interest be 10% per annum,

A) There is no gain or loss (o any one

B) AgansRs. 7.34
C) AlosesRs. 7.34
+ D) ApgamsRs. 1]

108. Bombay Express left Delhi for Bombay at 14.30 hrs., travelling at a speed of 60km/h
and Rajdhani Express left Delhi for Bombay on the same day at 16,30 hrs., travelling at
a speed of 80kmph. How far away from Delhi will the two trains meet?

A)  120km
B) 360km
C)  480km
D) S500km

(Set - D)

(20)

o of that number?
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4 B can do piece of work in 72 days: :
z':dn.w In What time can A .10,:?,;"";'““ Ceandoitin 120 days, A WA C can da s

150 days

109 A
in

A)

B) 120 days

) 100 days

D) 80 days

o= 1307467 = 0, then xvy iy :

-
L §:3or 1:2

1§ or 2:1 .
? | only ,
5.3 only 4

D)

—

R

7 i '
Il+p+qg" 14q+r' l4r+p

T \,then

A 0 »
| \ -

B pg [k
L vy
€ M l ; ;.' -‘.

D) | j

112. A certain sum of money at simple ililcms{ amounts to Rs, 1012 in 5/2 years and to
Rs. 1067.20 in 4 years. Tbeu’tc of interest per annum is } '
A 25% !
B) 3%
() ¢
D) $%

XA) Unique soluti Y
B Twosolutions
. (‘)
D)
(sﬂ «
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4 is the PAMATY function of 5
srorage of data
Execution of instryctions

y  Display of graphics

by Network communication

Vhich 'computct component is
manner !
A) RAM
By CPU
.() Hard Dnve
D) Monitor

What is the main function of an | deviee?
» . 'nM

A)  Display information

B) Process data

C) Enter data into the computer

D) Store data permanently

What is the purpose of an operating system?

A) To perform arithmetic calculations

B) Tomanage hardware resources and run app!'c:
C) Todisplay graphics

D) Tostore and retrieve data

tions

a computer from VIFESE ang

& Which type of software is designed to protect

’;A) Word processor
' “B) Antivirus software
C) Web browser

D) Spreadsheet software

6. What is the pnmary function
A) Todisplay images
B) Toprovide
) Togg
D




IVice
I I llowing is not 80 Example of an output devic
N. Which of the follo
A Printer
) \[N.ﬂ.ql
C)  Monitor

D) k‘\'\'.\h'
ymming language

Which of the following is not 8 high.level progri

9.
A Pyvthon
H) Assembly
L) Lva
D)
iple?
10, Which data structure uses the LastIn. First-Out (L1FQ) pring
A Queue
B) Suxk
C) Amny
D) Linked List
11.  What is the purpose of an algornithm in computer s¢ ience?
*A)  Toexecute a program
“B)  To provide a step-by-step solution to a problem
C)  To store data in memory
D) To create a user interface
12. Which programming paradigm is associated with objects that encapsulate data and

behavior?
A)  Procedural
B) Functional
C)  Object-Oriented
D)  Imperative

I13.  What is the binary equivalent of the hexadecimal number " | A"?

A 1010
B) 1000]
C) 110

D) 11100

14. What is the Purpose of a compiler in programming?
A)  Toexecute the program
B) Toconvert source code into machine code
L) Todebug the program
D) To Manage memory allocation

(Set. n)
(4)




FTML stand forin web develop
« Markup Languags

What dowen !

18 A) ““\-'Iu\k Tox
M Hypes Teat AManagement Longuage
() Hypsy ranaict Markup Language
) Hyper Text Markup Language
1% which of the following is not an input devic:
A) Keyboard
B Mouse
() Printer
D) Scanney
17, What type of software is responsible for manason irdwa
A user interface?
A)  System software
B) Application soltware
) Open-source software
D) Freoware
(8. Whatis the primary characteristic of Open-Sourc
Ay Itisalways free of charge
g)  The source code is freely available and can !
¢y Itis always developed by large corporation
p) Jtis never used in commercial applications
19, Which organization oversees the development of the
A)  Google
B) Mozilla Foundation
) Microsoft
D) Apple
20, What is a primary key in MS Access?

A) A unique identifier for a record
B) A way to format text

C) Atypeofreport

D) A form control

21, What doe
A)  Structured Query Language

B) System Query Logic
C) Structured Query Logic
D) System Query Language

(Set-D)

'l" |

s SOL stand for in the context of MS Acc

"o

wser Firetox”?
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M"(M Weight Lifting
;: gilver, Shot put
') Broese Shotput
p) Broase welght lifting
w)onWmiliWCoanfofWimum.u wing during the Isracl-Hamas
conflict?
A) vohammed Deif
) Il Haniyeh
¢) Yahya Sinwar
D) Ayman Noful

¢ the Indian ammed

forces, 1§
A) A French company

B) A Russian startup

C) Amwinwbmdbyll'rnombcy
D) Ajoint-venture startup based in Hyderabad
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*A)  Banihal Pass. ‘__“
B) Changla Pass N
() FotuLaPass

|

D) Khar




|
Omation is NOT collected during the ¢ CNsUS
‘K ‘\ ) fthe following infomy .
: hicholthe d

N India? |
A) Mantal status
B Educational qualification
(") \c]:,’\,"'.l”'l"”" L
1)) COccupation
39. Last census of India was conducted n
A)  Feb 2011 |
|
8)  March 2014
|
) Feb 021
D) /L'f‘ _"I,‘\‘ ‘
40, Which of the lollowinge Was NOT rules of Jammu and Kashmir?
\) Alurungzeh ‘
) Maharyjq Ranjit Singh
C) '\1.:9:.::.:;.1(ml.nh\nu,;,
D)

qucn Vic ona
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Who among thw !nlln\\”‘)T made " Bud \‘UQN("’ i}

A) Shah Mur

1By Sultan Stkandar

) Aurmngreh

Rinchan

D)

£5, Managers sct targets and decide thelr organi zation
A Wha
B) How
Which

)

D)

Because

56. Whatare you in the Kitchen cupboard?

A) Lookingin

B) Lookingon

() Lookingto

D) Looking for

disposes”. Fill inthe blank space in this saying with any

§7. "Man proposcs,
one of the following words -

A)  Woman

'B) God

C) Younggir

D) Goddess

the best apples from the basket.

She

«A) Choose

58.

.B) Chose
) Was chosen

D) Choosing



A)  Enjoyed ourself
\B) Enjoyed oursclves
C) Played with
‘D)  Enjoyed

60. Choose the correctly spelt word
A) Comittee
B) Committe
C) Comittece
*D) Committe¢

61. Which one is the correct sentence?
A) Mumpsis common among children.
‘B) Mumpsare common among children.
C) Mumpsis common between children.
D) Mumpsare common between children.

62. The sergeant asked him to come to the Police station -
Which one is the correct answer?
A) Between4d PMto 5 PM.
‘B) Between4 PM and 5 PM.
C) Between4 PMor 5 PM.
D) Between4 PMtill 5 PM.

63. Which one is the correct sentence ?
A) He who speaks the truth, everybody loves him.
B) Everybody loves him who speaks the truth.
« C) Everybody who loves him speaks the truth.
D) Everybody whom he loves speaks the truth.

64. A greatman said, "If '
,"If you can't fly, then run, if you can't run, then walk, if you cant
(t:‘en crawl, but whatever you do, you have to keep " Inthis qu(z’te.(?u mh:;
'{

A Fiying
- B) Running.




t know who was he and where did he o

re he came from?

re did he come from?
re he came from?

© he came from?

. Replace the word "hate' in the




."2 Sarmestha is T praen QW
\) from i
1) mn
L) O i)
[ §) Ol \
nee ¢ word 'ha dly CANs )
73 | ‘\llun'h-l good Tuck In this senich th e : o )
. fe hard! :  Rinddos :
Which one ) the COTTes ' |
A)  Almost not
)
B) Sincerely K0 :
& “;“‘!,“":l\\.n\
D) Very seriously ‘
. ' he blank space
4. Where theve 182 there is a way.” Fill in the blank space in thi g, !
with any one of the following words
\) Wil .“‘
H) Shall
) Should
D) Would
75,  "Yesterday Rahim as well os Karim present in the meeting. " Fill In the by
' in this sentence with one of the following %7
A)  Has been
B) Was
C) Hadbeen
D) Werc
76. The expression “Think out of the box" means 21
\)  Come out of the box and then think
' B)  Think ina conventional manncr
C)  Think in an innovative manner
D)  Think inside the box
77.  Omnivorous animals are those who - 8.
A)  Eatall kinds of food

B) Liveon vegetlables
" C) Livein walter
D) Livein tlocks

78. That he would treat me with this kind of

lnhhdunuun“akanunnnw This sentence
) IS -

A)  Fully correct

H) Partially comect

C)  Subst
D)

antially incorrect
Iucnncu
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| 'Y . . |\
L ) ’ » \"“tl
9 it
B\ 2 ) { ) n IO X v
’ on follo Coneit
\
(1) or follo
, . folloy \
}
89. Statements the harmonmums are instruments. All the instruments are Nus \)
Conclusions Y 3)
! \ ies are instruments .
: \ C)
\ 1 MIums are Hutes \ |
e )
\) Onls oncliusion follows ¢
B 0O onclusion lollow
N or (2) follows 93, Sial
1)) Nertl ynor (2) 1ollows WwEl
the
9 ) Some mane
U.  Statements: Some mangoes are vellow SOIME LIXO are mangoes | Ca
Conclusions: ' :
e dreen ~
e
»

! SO MANEOes
s10n follows ’
A

usion lollows

’
thisi

w(2) lollows
‘7“:'”'\\ 5
(16) (Set

‘D) \‘nl”!:.’ufr:l\lxl
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(

king financial nstitutions by aPrx
| ny 2..‘“”“.“' ’r'
pent has Sped Jma i \
.\\.||| N

g ¢ | these instiutions
\.‘1"'*-" T l'lft" s
, 1O : al institules
‘ parho 1d appoint Directors of the financi king 128,
e L nl shoul ) : ‘“m”“_ arca of finance
¢ cernm p ~\'ul“‘ of the P
’ yon the & _— . . YO 11%
T the financial institute should have expertise commensupye o
JRLL ek
rectOr « !
n\i{h-.‘. State e . cried out by the institute
O tak ey, al WOrk
i - .
SAC the Riven e '_"“,..““!.l”nn\\\
"“lln‘y“'\ LH..‘\ '\l‘” 3 “:l.-" .
N s A , lusion follows
S1ons log; Oty ) con
--\.|H\ ,“” [ saly' | 4
LN £ 'm. ! -,,.“_'l!n”«'\\‘\
ot (|
. ) follows
i ors _ W andd (&
. » - .“ y
ats: Population increase coupled with depleting resources 1s going to be the
B i pany developing countries in days 1o come
ol g pons:
‘;n . - . -
e population of developing countries will not continue to increase in Tuture
swill be very difficult for the governments of developing countries 1O provide i
cople decent gquality of life
’
. wlv | wlusion follows
ments are Nutes Ouly (1) conclusic
Ouly (2) conclusion follows
D [ Eather (1) or (2) follows
1)
> | D Both(l)and (2) follows
( :
'
' 93, Sutements: Prime age school-going children in urban India have now become avid &
f. v s more regular viewers of television, even in households w ithout a TV. As a resul
f here

as been an alarming decline in the extent of readership of new spapers
Coxclusions:

\-[C‘."

od of increasing the readership of newspapers should be
\

devised

wam ol experts should be sent to other countries 1o study the impact of TV.0on
the readership of new spapers.

V' Only(] ) conclusion follows
:

5) | )
f '~ Unly (2) conclusion follows

!

| ha ;
' Either (1) or (2) follows
.'I|

\ -
Veither (1) nor (2) follows

‘Sﬂ.m

(17)




." Meat' is related 10 Vegetarian' in the same wav as Alcohol i rel ated o "
. 0 | .

'A) Fectotaler ‘. 9 \‘
B) Smoker ‘ H
C)  Water ‘
D) Dietician . l

-

& ‘Cher is related 10 Food' in the same way as '( huu‘np‘l.ll\hct' s related 1o

A)  Stage
A\

B) Musk

* ( ! Dance
D) Photogreph)

wn that 15 related to the : .
prion (hat 18 IOIRTEE the third number in the same way as the Mo
.

elated to the first number. 4 - 8 :24% 9 AT

96. Select the «
number 18 T
Ay W “
B |25 ‘
) 62 .‘

l)l 75 ‘
'

Qi [+ mean -means "+, X means *-*and + means * **, then what will be the values
the following expression, I8 +6-27 43 x |2 =7 f

)

A Yi
B) 105
() 04 41

D) 107

98. Introducing a girl, a boy said, “She is the daughter of the mother of the daughter of my '
aunt.” How is the girl related to the boy? '

v A) Niece
'i, r‘\lux{
( ) ( OuUsin

D) “"“f-'ll!k-;

99.  One moming, Manish and Ali were takinig 10 éach Othier fice 1o fic6 at « sl

All's shadow was exactly to the left of Manish, which direction was Manish facing?
» A) |'.l\!

B)  South
C) West
D) North ) ..

Set- D . |
3 { ) % ' ;

103,




wcal wndd 1 .llllH.'lH]--.‘Jn[
WS 1 RO

-pt ""
Her is relateq 1
H
:
N 1
ame wWay ag the g
(\‘(plw he following in a logical and o aningful order
! ‘ JdCup Semi Final Matches
e ld Cup Finals Match ’
nzimg the World ¢ up
inang the Pt ipahing tcams
-
rof the \\l'l!\’( up
vhat will R : :
% the v
alug o |, 4 )
! AL
’ S
) 4§
e ) :
T 10, } me and ran 20 km towards South. then tured right and ran 10km He ok
¢ daug ) f minutes § ; ¥ Spot ; ‘ .'
ghter of my nutes at the same spot and then again turned right and ran 20 km ,\l!aﬁ‘
| . ; 20k
cltand ran 20 km to the cricket ground. How many kilometers will he have ty
ek to reach his home by shortest route?
0 15k
, kn
’ " All
‘© atl o Crossing. If

) b {hcinl? {1} .
lanish facing’ sol'the quadrilateral are in Ratio 4 § 10: 11

¢
= he angles are given belows
oU%, 1089, 156
WL 60°, 1200, 132
=, 60°, 1220, 126°

OU%, 120°, 120° |

‘\f.“’




A) 120
“) 150
) > 70
* D) 180

|05_ The expression SO O4/4000) is np._,] 1o
Ay 010215
s B) 0.0215]
¢ 0.15201

D) 021015

106. A man sells two houses al the rate of Rs. 1,995 lakhs each. On one, he gains 3% andon
other he loses 5%. His gain/loss percentage in the whole transaction is

0.25%

A) Loss
‘B) Gain= 0.25%
2.5%

(") ,‘n\

) | .oss 25%

in this mode of payment,

107. A has to pay Rs, 220 to B after | year. B asks A to pay Rs. 110 in cash and defer the
payment of Rs. 110 for 2 years. A agrees to it, If the rate of interest be 10% per annum,

A) There is no gain or loss (o any one

B) AgansRs. 7.34
C) AlosesRs. 7.34
+ D) ApgamsRs. 1]

108. Bombay Express left Delhi for Bombay at 14.30 hrs., travelling at a speed of 60km/h
and Rajdhani Express left Delhi for Bombay on the same day at 16,30 hrs., travelling at
a speed of 80kmph. How far away from Delhi will the two trains meet?

A)  120km
B) 360km
C)  480km
D) S500km

(Set - D)

(20)

o of that number?

-

1A



4 B can do piece of work in 72 days: :
z':dn.w In What time can A .10,:?,;"";'““ Ceandoitin 120 days, A WA C can da s

150 days

109 A
in

A)

B) 120 days

) 100 days

D) 80 days

o= 1307467 = 0, then xvy iy :

-
L §:3or 1:2

1§ or 2:1 .
? | only ,
5.3 only 4

D)

—

R

7 i '
Il+p+qg" 14q+r' l4r+p

T \,then

A 0 »
| \ -

B pg [k
L vy
€ M l ; ;.' -‘.

D) | j

112. A certain sum of money at simple ililcms{ amounts to Rs, 1012 in 5/2 years and to
Rs. 1067.20 in 4 years. Tbeu’tc of interest per annum is } '
A 25% !
B) 3%
() ¢
D) $%

XA) Unique soluti Y
B Twosolutions
. (‘)
D)
(sﬂ «
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